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FACTORING PART 2: Worksheet 2

Factor the following.

1)  2x(x—6)—5(x—16)

3)  3w(w+5)+4(w+5)

Factor by grouping.

5) 14t% +21t% +16t + 24

7 6x3+3x% +2x+1
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Factor the following trinomials by grouping.

9 2y*+y-21

12)  8x* -38x-10

Solve each equation by factoring.

15) 9w’ —27w+20=0

18) 3t?—-28t—20=0

DATE

2) 10y(y+D)+7(y+1)

4) 2r(7r—-2)-3(7r - 2)

6) 13y®-8y®+13y-8

8) 6w’ +4w® —6w* —4w
5x? +51x +10 11) 12t2 +17t+ 6
129% + 250 +12 14) 6a®+1la+5
24m* +8m-2=0 17)  9x* +2=-9x

8q° -8q =6 200 10y*+39y+14=0
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FACTORING PART 2: Worksheet 2

Factor the following.

1) 2x(x—6)—5(x—6) 2) 10y(y+1)+7(y+1)
(x—6)(2x—5) (y+D@A0y+7)

3)  3w(w+5)+4(w+5) 4) 2r(7r—-2)-3(7r -2)
(W+5)(3w+4) (7Tr=2)(2r-3)

Factor by grouping.

5) 14t° +21t? +16t + 24 6) 13y°-8y®+13y-8
7t2(2t +3) +8(2t +3) y?(13y —8) +1(13y —8)
(2t + 3)(7t? +8) (13y —8)(y? +1)

7) 6x*+3x% +2x+1 8) 6w’ +4w? —6w? — 4w
3x?(2x +1) +1(2x +1) 2w(3BwW° +2w? —3w—2)
(2x+D(3x* +1) 2w[w’ (3w + 2) —1(3w + 2)]

2wW(3w + 2)(w* —1)
2w(Bw + 2)(w+1)(w—1)

Factor the following trinomials by grouping.

9 2y?*+y-21 10) 5x*+51x+10 11) 12t +17t+6
2y2 +7y -6y —21 5x? +50x + x +10 12t° + 8t + 9t + 6
y(2y +7)-3(2y +7) 5x(x +10) +1(x +10) 4t(3t+2) + 33t + 2)
(2y+7)(y -3) (x+10)(5x +1) (Bt+2)(4t+3)

12)  8x%—38x-10 13) 129% +259+12 14) 6a’+1la+5
8x* —40x + 2x —10 129% +160 +9q +12 6a’ +5a+6a+5
8Xx(x—5)+2(x-5) 49(3g+4) +3(3g+4) a(6ba+5)+1(6a+5)
(x=5)(8x+2) (3q+4)(4q9+3) (6a+5)(a+1)

Solve each equation by factoring.

15) 9w’ —27w+20=0 16) 24m®+8m-2=0 17)  9x® +2=-9x
ow® —15w—-12w+20=0 2(12m* +4m-1) =0 9x*+9x+2=0
3w(Bw—-5)-4(3w-5) =0 2[12m? +6m-2m-1]=0 9x® +6X+3x+2=0
(Bw-5)(3w—-4)=0 2[6m(2m +1) —1(2m+1)] =0 3X(Bx+2)+1(3x+2) =0
{ﬂ g} 2(2m+1)(6m-1) =0 (Bx+2)(3x+1) =0
3'3
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18) 3t*-28t-20=0 19) 8g°-8q=6 20) 10y® +39y+14=0
3t*-30t+2t-20=0 89> -8q-6=0 10y® +35y +4y+14=0
3t(t-10)+2(t-10)=0 2(49° -4q-3)=0 5y(2y+7)+2(2y+7)=0
(t-10)3t+2)=0 2/49° —6q+2q-3|=0 (2y+7)(5y+2)=0
_249 2[2q(2q - 3) +1(24 - 3)] = 0 1.2
3’ 2(2t11 —33)(2q +1)=0 2" 5
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